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a1 b1 a2 b2 a3 b3 a4 b4 a5 b5

r1 r2 r3 r4 r5 r6 r7 r8 r9 r10

ai bj rk

a1 = P1P2 a2 = P3P4 a3 = P5P6 Ă

b1 = P2P3 b2 = P4P5 a3 = P6P7 Ă

r1 = OT1 r2 = OT2 r3 = OP3 Ă

a2/a1 = 1.84 , a3/a2 = 1.54 , a4/a3 = 1.72 , a5/a4 = 1.68

b2/b1 = 1.72 , b3/b2 = 1, 58 , b4/b3 = 1.67 , b5/b4 = 1.74 .



b1/a1 = 1.38 , a2/b1 = 1.33 , b2/a2 = 1.29 , a3/b2 = 1.19 , b3/a3 = 1.32 ,

a4/b3 = 1.30 , b4/a4 = 1.28 , a5/b4 = 1.31 , b5/a5 = 1.32 .

r2/r1 = 1.39 , r3/r2 = 1.32 , r4/r3 = 1.29 , r5/r4 = 1.19 , r6/r5 = 1.32 ,

r7/r6 = 1.31 , r8/r7 = 1.26 , r9/r8 = 1.31 , r10/r9 = 1.32 .
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OPQ OQR ORS

PQ : QR : RS = OU : OV : OW.



k k ∗ (π)/2
k = 1, 2, , 10



r = AeKx r x A K

dr = r′/r

dx = x′ x

dr = eKdx

dr = Kdx.

dr = 1.618 , dx = 3.1415 , K = 0.1532

0.2589

K = 0.2589 ∗ 2/3.1415 = 0.1648






